Winter skat class – O’niänih 6

Tho iwayeh ?
How many are there?

Counting objects – without nominal incorporation 
-rihw- thing, new 
Tho iwayeh ?    3 possible answers
Skarihwat (object): there is only one (object)
Teyarihwayeh (object): there are two (object)
(Number) iyarihwayeh (object):  there are (number) (object)

Counting objects – with nominal incorporation 
Only 1		REP. – nominal root – LINKER – t (to be one)
		Example: 1 pencil (-hiatonhkw-)
		Skahiatonhkwat 
2 objects	DUPL. – nominal root – LINKER – yeh (to be a certain number)
		Example: 2 snow shoes (-nionhr)
		Teyänionhrayeh
3 + 		Nber + PART. – pronominal prefix – nom. root – LINKER- yeh
		Example: 7 doors (-nhow-)
		Tsoutare’ iyänhowayeh 
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